Bellwork  Alg2  Thursday, September 27, 2018
1. Use the graphing calculator to graph this quadratric and find the coordinates of the vertex. Round to
the nearest hundredth.
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2. Write the equation of the quadratic in Vertex Form that has a vertex at (—4,7) and also passes through
the point (3,-16).

3. The quadratic y = ax? + bx + ¢ passes through these points:  (-5,7) (0,-23) (3,-89)
Find the value of a,54, and c.

4. Your factory produces lemon-scented widgets. You know that each unit is cheaper, the more you
produce. But you also know that costs will eventually go up if you make too many widgets, due to the
costs of storage of the overstock. The guy in accounting says that your cost C for producing x thousands
of units a day can be approximated by the formula C(x) = 0.04x2 — 8.504x + 25302.

a) Find the minimum costs for your factory.

b) What daily production level will minimize your costs.
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2. Write the equation of the quadratic in Vertex Form that has a vertex at (-4, 7) and also passes through
the point (3,-16).
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3. The quadratic y = ax? + bx + ¢ passes through these points: (-5,7) (0,-23) (3,-89)

Find the value of a,b, and c. -~
S0lNe using ELIMINATIG
¥ [O,'Uz) Mmeuans g—mT: -22 —>» C=-23
i TN p A 3(30:7——5‘3t"5b>
%'-: axt+bx —23 '.EZXZ »/&bvzﬁ 5(-we = 7& + 3b)
0 = ~15
X~ using &%) Hus ing (3'_5,:’ G0 =75 —15b
| - o) T 3305 =954 +15b
U= al-3+b(%) 723 g - qa24b(y -2
‘ —2Yp = /204

4. Your factory produces lemon-scented widgets. You know that each unit is cheaper, the more you
produce. But you also know that costs will eventually go up if you make too many widgets, due to the
costs of storage of the overstock. The guy in accounting says that your cost C for producing x thousands
of units a day can be approximated by the formula C(x) = 0.04x2 — 8. 504x + 25302.

a) Find the minimum costs for your factory.

LoS, £ind by

&.50Y _ Y$5o .0/

==L =3 - 30 = 25(-9-5

2(0»0“9 ((’0‘7'5/ V/) 20 =TS0 2"5_1;
4 A so =-5)h

b) What daily production level will minimize your costs. weeé — °T>
X- Ccoord of .a,
wuniT’s

'o{_ /06.:% m«;am_Js aqp =,
Neer /aé,a,)(/ao'o) ;{/Oé,goo-!



